BEAD GEXEF - BTT )

F04FE58 | H
b 1 X % H# F O A | 5 7T

B 7 B o X 6,675 13,383 6,982 6,40 |

X B # K 1,178 2,920 1,438 1,482

£ F # K 576 1,480 756 724

N RO K a85 2,669 1,355 1,314

Bl %&£ # K 6,840 14,853 7,275 7,578

Nn |’ R # X 1,288 3,134 1,517 1,617

ik x M # K 1,047 2,509 1,239 1,270

it & & # K 7,839 18,809 9,042 9,767

BE o M o X 6,241 15,962 7,967 7,995

& 5 32,669 75,719 37,571 38,148
Lf4FE5H 18

Hw K & B T 4% tH #H B | A 0 5 £°3

BE 7 U X BETEIATA 4,504 9,357 4,708 4,649
¥ P 182 339 1 89 150

® B 423 838 426 412

£ L o H 742 1,330 832 498

g R H 283 504 275 229

% H] 54| 1,015 552 463

o ORX 3 6,675 13,383 6,982 6,40 |

N E # X = B q0 221 112 109
X & 809 1,998 980 1,018

B K EH 143 367 180 187

+ K 18 #r 8 136 334 166 168

A - S 1,178 2,920 1,438 1,482

k P # K ® B H 136 355 181 174
& fF 16 39 17 22

¥ @\ H | 24 409 195 214

& & H 96 236 I 14 122

R HT | 34 275 163 112

K & 70 166 86 80

H X3 576 1,480 756 724

N R O K N R H] |79 426 218 208
BN R H | 45 398 202 196

7 PR HT 31 75 36 39

B R ¥ 456 1,320 678 642

g B 64 178 86 q2

2 1] 110 272 135 137

H X3 985 2,669 1,355 1,314
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BEAD GBXF - BT T35

Sf4F58 |1 B
*r R % B/ T 4 HF B | A = 5 5°3
Bl % i X Bl K 625 1,536 743 793
F9 & %7 B 8T | 2 2 0
A i HT 163 420 202 218
m v B 712 1,635 796 839
& % 6 929 2,182 1,012 1,170
Bl % ] 101 401 162 239
%= & 1,901 3,916 1,956 1,960
& | TB 223 417 210 207
& 2 T8 426 874 429 445
8 3 T8 458 770 394 376
& 4 T B 710 1,365 706 659
MW I 30 18 12
NGB OFE S HT 426 q10 449 46|
FE EC & %7 E 0T 17 45 19 26
N wE o ET 137 350 177 173
o X 6,840 14,853 7,275 7,578
IR K3t B R AR ET 1,288 3,134 1,517 1,617
#H K3 1,288 3,134 1,517 1,617
it XX R i X & ¢ € 76 233 118 115
& b ¥ @ E] 65 152 72 80
A Bk OE T 110 260 123 137
2 @\ 65 151 77 74
it # H 73 202 100 102
N OB 31 88 44 44
® A 63 182 4 88
X B 6 19 8 I
e | TH 92 191 10| q0
a2 TH 89 202 q4 108
ENaE3TAH 105 215 105 110
e 4 TH |34 309 150 |59
maAES5TH 54 125 63 62
a6 TH 84 180 q0 q0
A - G- 1,047 2,509 1,239 1,270
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EEAD (X3 - BTT 5)
Sf4F58 |1 B
H B % Bq T 4% #H R A = B -8
LtES®RE | EWw I TH 181 406 193 213
£EWL2TBH 202 459 209 250
£WL3TBH 179 407 208 199
£ 4 TBH 341 904 394 510
£WL5TAH 270 618 292 326
fFWL6TRH 285 689 349 340
£WL 7 T8 230 575 280 295
£WL 8 TBH 273 617 305 312
WmEITB 433 926 429 497
WmwWE2TB | 29 34| 162 179
W¥E3ITBHE 233 525 273 252
WwWE 4 TB 152 363 175 188
W¥ESTBH 244 578 278 300
WwW¥E6TRBH 265 637 298 339
NS T B 29 66 35 31
N2 T B 351 q17 457 460
N3 T B 179 405 208 197
NS4 T B 571 1,248 572 676
&1 TH 203 47| 236 235
& 2T7TEH 232 588 282 306
T &3TH 127 319 170 | 49
& 4T7TH 264 681 324 357
T &5TEH 190 440 193 247
BARE | TH |79 476 24 | 235
BRE2TH 207 576 279 297
vHRE3ITHE 70 189 q4 95
BARE4TH 201 46| 221 240
BHRESTH 292 784 366 418
Afk& | TH 160 401 200 201
A& 2TH 169 424 214 210
A& 3TH 323 784 395 389
AfR&4TH 675 1,534 710 824
# X E 7,839 18,809 9,042 9,767
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BEAD GBXF - BT T35

Sf4F58 |1 B
H B % Bq T 4% #H R A = B -8
Ry MR | @yl TH 169 748 496 252
BT E2TH |64 420 214 206
By aE3TH | 89 450 2217 223
BT E4THE 277 760 362 398
o ES5TH 341 831 380 45|
By R 6TH 310 q03 456 447
By ETTBE 417 |, 144 590 554
W/ NI TE 285 706 334 372
W/ N2TH 225 570 275 295
W/ N3TH 360 986 478 508
W/ N4TH 285 772 380 392
W/ N5TH 272 733 365 368
wr e TH 489 1,110 558 552
WrE2TH 442 qq | 486 505
wrE3TH 354 1,017 515 502
WwWrE4TH 314 54| 259 282
BRI TE 270 716 358 358
BR2TE 437 1,032 518 514
BR3TAH 299 745 373 372
BR 4 TEBE 324 60 | 287 314
wE | TH | 140 34 106
v B 3 TH |7 46 22 24
#H K3 6,24 | 15,962 7,967 7,995
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